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The verse states, ‘The first of’; that its remnants are recognizable

OVERVIEW

YWY 277 7°72 X117 27 explained that one cannot be ynn w 1dn for 7N on 1o
(even if it had a 7w1377 nyw) because the P1oo states' (regarding 7170) that D wXA
21 7337; meaning that the 72170 1s the WX (the first of) and there is a remainder,
whose status is changed by separating 770, However here initially the ynn 5w av
was 772°9X2 MoK and 7X372 N2 and after the 7wAor it is still X372 90T 797082 MOR
(its status did not change due to the 7w157). Our MooIN discusses whether or not
there is a change.

mooIn asks:
= 99999 N9°VY NN 99NN ON)

And if you will say; but it is 2992% 7799°; there is a change in its status from before
nwaon to after WO -
- 12 X¥1D) APYTN D 1925 YU ININA NPON 1A KYPIYRT

For initially (while it was still 72v, before 7m0 was separated), it was forbidden
to derive a benefit of consumption, from this 72v, for instance burning it, or a

similar act of consumption. moon explains why *12°3 Y@ 7R3 is 7OX -
- 312 P29 PR RO YAOX NINT YN
For this y»nn 2v is similar to 8% ®2v which we are not permitted to burn (and
the same should seemingly apply to ynan v 2v) -
- 12 19995711 79IN) NN NYY)
However after 7190 has been separated from it we are permitted to burn it as
fuel (both by ®nv 92w and yn 5w 92v), so why does the X3 say that 0°73°1 1w PR?!

MDoIN answers:
- 1975971 PN NPV Y202 XPYTT 39 U

And one can say that it is only specifically by x»w 2w that we are not to burn it -
= 9299 2NN NMHIN *XHVYI *HMIIN N9NIVYN HN 41)’\’)‘1‘1‘1:

L,m (ovow) 0.
2 >3 Hw Ax17 means deriving any benefit that causes the item to be consumed or destroyed; like feeding it to cattle
or using it for fuel.
? One may derive benefit from xav 920 by selling it, however one may not use it as fuel (this is a *12°2 2w 7x17).
* See X,12 n2w where we expound the P09 (in 11,7 [772] 12712) which states NAW7 IR 72 °NN1 737 °IRY 1R 98 77 02
31 °nmN.
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As we expound the verse of >nyan nanw» nR (the guardianship of my nan),

that the verse is discussing two N30 (the word >nmn is plural) both 7197w 72170 and
XML 71N -
= 99191 711N GN TN NBIN NYWN YN NA 7Y PN NNV N AN

That just as ;79970 72190 (which can be eaten by the 2°1710) you (the 2°3772) do not
have any part of it, only after it was separated (then the 2175 may eat it, but not

before), the same is also by 7R Y9N0, etc. (which may be used as fuel) the 0°375 cannot
burn it as fuel only after 7270 was separated, however while it is still 92v, it may not be burnt;
this is regarding &nv 92v for which we have this w17 -

SN SNYA NN 399K NYT *)D511 N Y Yava Yan
However by y72n %3 (on noo) we may burn it, for the verse is only discussing

two NI (that need to be guarded); namely 77nv amn and axnw 300 (and their 22V
equivalent), but not ynn 9av, therefore there is no 0°13°1 77> since it may be burnt for fuel while
it is still 5av as well.

SUMMARY
T7an NN is not 2°12°1 77w, since both before 7277 and after 7n077 it is 72782 MOX
and 0 for M%7 Hw AR,

THINKING IT OVER

mooIn here concludes that one may use yan > 92v for fuel.® However previously’
mooin stated that not only is "™12°2 ¥ X377 (using it for fuel and thereby destroying
it) forbidden by Xnv 92w but "> Hw nXin is forbidden even by v Hav
([seemingly] meaning by all 92v), so how can mo0n state here that >w 22v32 PR 1
yan (which is 190 20)?°

> See ‘Thinking it over’.
% See footnote # 5.
7>192 7"I0 R,D states N2 NN NIAWA DR 2°N0T DIWH XAY 302 PRRTR PR 2 (QWY 0 NAW) PRYTR An2a 1wWTT
70 M3 T PP N 1D ARAL AR TR AR YW ROR 7297 PR 000 a2 820 DARY 700 AR 92771 21035 Dan
21793 LW AR HIY a2 D2ORAY 191 370 AX 7007 0TI TPRTI2 10N T IRN0 11 RN,
¥ See (T1xm) X"wan and A0 WX,
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